Ne ApTHUKYI HamMeHOBaHME Kon
1 Buur ST6.3x25 4
2 |792-711-002 Tarika M8 9
3 |792-711-003 Pyuka nedijexrTopa 1
6 |792-711-006 Kosepek nedsekTopa 1
7 1792-711-007 T'arka-0apaliek 1
9 [792-711-009 Bomr M8x25 10
10 |792-711-010 HednexTop 1
11 BuHT 7
12 Koxyx BepxXHUM 1
13 Buur ST6.3x19 2
14 llarBa 2
15 |792-711-015 [IpyxmHa 1
16 |792-711-016 Konruo zmediexropa 1
17 |792-711-017 OcHoBaHMe mediexTopa 1
74 ByuT ST8x16 23
Mogpernb
CHeroybopumk 6eHBMHOBHIM ST3546
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 1




Ne ApTHUKYI HamMeHOBaHME Koxn
4 Prluar BKJI. LHeKa 1
5 Pyuka BepxHAH 1
8 Tarika M8 6
19 llarBa 1
44 Mamba 10 8
55 Pyuka HWXHASA 1
64 |792-711-064 KpoHWTEMH TpOoCHKa 1
65 Tamxka M10 4
66 Bosr M10x45 4
72 67 |792-711-067 TpocuK CLEeNJIeHNA 1
70 |792-711-070 [InmacTMHa peryIMpOBOUYHAS 1
71 1792-711-071 Koxyx NpyXMHEL 1
72 1792-711-072 [IpyxnHa 1
73 Bosr M8x40 4
Mogpernb
CHeroyb6opumk O6eHBMHOBEM ST3546
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 2




Ne ApTHUKYI HamMeHOBaHME Koxn
792-711-002 Tarka M8 9
9 [792-711-009 Bonr M8x25 10
11 BuHT 7
18 Koprnyc nexu MHpaBEM 1
20 |6203-2z2 Momumnuyk 6203 2
21 |792-711-021 Ban wmHeka 1
22 Tarika M6 9
23 Tarika M6 2
25 |792-711-025 Hox wmHeka 2
26 |792-711-026 Kopnyc nomumnHMKa 2
27 llarba 8 4
28 BonT M6x25 4
29 |792-711-029 [ImacTMHa OEeKM HUXHAS 1
30 BonT M8x25 4
40 Mlarba 8 5
59 Ban poJsuka 1
60 |792-711-060 Ponux 1
61 |792-711-061 Brysnka poJsinkKa 1
62 Kopnyc Oexu BEepPXHUU 1
63 BonT M6x16 4
74 Byt ST8x16 23
76 T'avika M6 3
78 BonT M6x16 1
Monmerib
CHeroyb6opumk O6eHBMHOBEM ST3546
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 3




S xh!ffTﬂfj
[(SLARSN

g/ Y
, s!\(\, (& ;_om;\
N

\)

T gy

3

\]
N

Y
O
-

Ne ApTHUKYI HamMeHOBaHME Kon
8 T'atika M8

11 BuHT

22 T'avika M6

23 T'avika M6

24 BonT M6x20

31 |792-711-031 Kopnyc Inexm JIeBBIM
32 |792-711-032 PeMeHb

33 |792-711-033 [IKMB BEOOMEINA

34 llarBa 6

35 BuHT STM6x40

36 [792-711-036 Kprllka IeKn

37 llnouka

38 ByurT ST Mb5x12

39 Bosr M8x20

40 llamba 8

41 |792-711-041 kB BeIymmn

43 1792-711-043 [IpyxnHa

45 1792-711-045 KpOHIWTENH POJIMKa

46 |792-711-046 PoJiMk HaATSXUTEJIS

47 |792-711-047 Brysnka poJsiMkKa

48 Bosr M8x55

49 llatiba 6

50 Byt ST6.3x16
51 [lnacTmrHa

52 |792-711-052 Brysnka koJjieca

53 |792-711-053 Komneco

54 Ieuraresb 154FP

NI N I R N S N S e S e Y S A NG, RS ROV =S I N SR S S S Y NS N SN VRIS | o

56 [792-711-056 Nanba 14
57 [792-711-057 Mamnba 14
58 |792-711-058 Baraymka
75 BoaT M6x35
MonmeJsib
CHeroy6o0 K OGeHBMHOBEHIM
ybopum ST3546

Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA | Page 4




